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Today - Sentiment analysis
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Output space : 3={1/2,3}
one- vs- all : Ivs (2/3)

2. vs ( 1,3)
3 vs ( 1,2)

Reconcile by taking highest prob



MC : like one -us-all
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better"

Two ways of thinking about it :

① Different weights per class

② Different features per class

differentweight.ws
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highest score



FI Headline classification
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softmax : probs are >0

probs sum to 1 over
classes

same as binary LR if we assume

negative class has score 0

Update : SGD of negative log likelihood
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Classes 1,2 , ] w/probs
[It , 0.8, 0.1] yci 1=1

NO Ypred here (doesn't matter)
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[ I 1 0] feats

y
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Initialize

0
, ,Ñz,Ñ} all zeroes
Predicted

① Class probs [ '13 % %)

② LR update (✗ =L )
class 1 : [ 43 4s 0] add (1-43)-1-6=1
Class 2,3 : F 's -1,0 ) sub. 's - FEE)

③ What happens if we train
on this repeatedly ?


